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Ct= 1+ Z 0| show statistics tfo detail HE2 AL 5104 T TFO SHE & + U&LICH
WAE# show statistics tfo detail

Tot al nunber of connections . 2852
No. of active connections .3 <===== Active connections
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No. of pending (to be accepted) connections 0

No. of bypass connections 711
No. of normal closed conns 1 2702
No. of reset connections 1147

Socket write failure 0
Socket read failure 0
WAN socket close while waiting to wite 0
AO socket close while waiting to wite 2
WAN socket error close while waiting to read 0

AO socket error close while waiting to read . 64
DRE decode failure 0
DRE encode failure 0
Connection init failure 0
WAN socket unexpected close while waiting to read : 32
Exceeded maxi mum nunber of supported connections : O
Buf fer allocation or manipulation failed 0
Peer received reset fromend host : 49
DRE connection state out of sync 0
Mermory all ocation failed for buffer heads 0
Unoptim zed packet received on optim zed side 0

Dat a buffer usages:
Used si ze: 0 B, B-size: 0B B-num O
Cl oned si ze: 0 B, B-size: 0B

Buf fer Control:

Encode si ze: 0 B, slow 0, stop: 0

Decode si ze: 0 B, slow 0, stop: 0
Schedul er:

Queue Size: IO 0, Sem-1O 0, Non-1GQ 0

Total Jobs: 1CQ 1151608, Sem-1QO 5511278, Non-1Q 3690931

Policy Engine Statistics

Session tineouts: 0, Total tineouts: O

Last keepalive received 00.5 Secs ago

Last registration occurred 15:00:17:46.0 Days: Hours: M ns: Secs ago

Hits: 7766, Update Rel eased: 1088
Acti ve Connections: 3, Conpl eted Connecti ons: 7183
Dr ops: 0
Rej ect ed Connection Counts Due To: (Total: 0)
Not Regi stered : 0, Keepalive Tineout : 0
No Li cense : 0, Load Level : 0
Connection Limit : 0, Rate Limt : 0 <===== Connection
limit overload
M ni mum TFO 0, Resource Manager : 0
d obal Config 0, TFO Overl oad : 0
Server-Si de 0, DM Deny : 0
No DM Accept 0
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WAE#show stat conn

Current Active Optimzed Fl ows:
Current Active Optimized TCP Pl us Fl ows:
Current Active Optimized TCP Only Fl ows:
Current Active Optimized TCP Preposition Flows:

Current Active Auto-Discovery Flows:

Current Reserved Fl ows:

Current Active Pass-Through Fl ows:

Hi storical Flows:

D:DRE, L: LZ, T: TCP Optim zati on RR Tot al
A: AOM C. ClFS, E: EPM G GENERI C, H: HTTP, M MAPI ,

Dest | P: Port
100. 100: 80

Source | P: Port
10. 10. 10. 10: 3300

Connl D

343 10. 10.
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WAE# sh stat connection conn-id 343

Connection 1d: 343
Peer 1d: 00: 14: 5e: 84: 24: 5f
Connecti on Type: EXTERNAL CLI ENT
Start Tine: Tue Jul 14 16:00: 30 2009
Source | P Address: 10.10.10. 10
Source Port Number: 3300

Destination | P Address: 10. 10. 100. 100
Destination Port Nunmber: 80

Appl i cati on Nane: Wb <==——- Application
name
Cl assifier Nanme: HTTP <====- Classifier
name
Map Nare: basi c
Di rected Mode: FALSE
Preposition Fl ow FALSE
Policy Details:
Confi gur ed: TCP_OPTIM ZE + DRE + LZ <===== Configured
policy
Deri ved: TCP_OPTIM ZE + DRE + LZ
Peer : TCP_OPTIM ZE + DRE + LZ
Negot i at ed: TCP_OPTIM ZE + DRE + LZ <===== Policy
negotiated with peer
Appl i ed: TCP_OPTIM ZE + DRE + LZ <===== Applied
policy
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DRE: 353

Conn-1D: 353 10.10.10.10:3304 -- 10.10.100.100:139 Peer No: O Status: Active

Open at 07/14/2009 16:04:30, Still active

Encode:
Overal | : nsQ: 178, in: 36520 B, out: 8142 B, ratio: 77.71% <K== Overall
compression
DRE: msgQ: 1, in: 356 B, out: 379 B, ratio: 0. 00% <K== DRE
compression ratio
DRE Bypass: msg: 178, in: 36164 B <===== DRE
bypass
LZ: nsg: 178, in: 37869 B, out: 8142 B, ratio: 78.50% <=———-- LZ
compression ratio
LZ Bypass: nsg: 0, in: 0B <===== LZ
bypass
Avg | atency: 0.335 s Del ayed nsg: 0 <=-=-==-= Avg

latency



Encode th-put: 598 KB/ s <=-=-=== In 4.3.3
and earlier only
Message size distribution:

0- 1K=0% 1K-5K=0% 5K-15K=0% 15K-25K=0% 25K-40K=0% >40K=0% <===== In 4.3.3
and earlier only
Decode:
Overal | : nsQ: 14448, in: 5511 KB, out: 420 MB, ratio: 98.72% <K== Overall
compression
DRE: msgQ: 14372, in: 5344 KB, out: 419 MB, ratio: 98.76% <K== DRE
compression ratio
DRE Bypass: nsg: 14548, in: 882 KB <===== DRE
bypass
LZ: nsg: 14369, in: 4891 KB, out: 5691 KB, ratio: 14.07% <=———-- LZ
compression ratio
LZ Bypass: nsg: 79, in: 620 KB <-=-=-- LZ
bypass
Avg | atency: 4.291 s P Avg
latency
Decode th-put: 6946 KB/ s <=-=-=== In 4.3.3

and earlier only
Message size distribution:
0- 1K=4% 1K-5K=12% 5K-15K=18% 15K-25K=9% 25K-40K=13% >40K=40% <===== Output from
here in 4.3.3 and earlier only
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WAE# sh stat dre detail

Cache:
Status: Usable, O dest Data (age): 10h <=-=-=-= Cache age
Total usable disk size: 311295 MB, Used: 0.32% <===== Percent cache used
Hash table RAM si ze: 1204 MB, Used: 0.00% <====-- Output from here is in

4.3.3 and earlier only
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Connection details:

Chunks: encoded 398832, decoded 269475, anchor(forced) 43917(9407) <==-==-= In 4.3.3 and
earlier only
Total nunber of processed nessges: 28229 <==-==-= In 4.3.3 and
earlier only
num used_bl ock per msg: 0.053597 <==-==-= In 4.3.3 and
earlier only
Ack: msg 18088, size 92509 B <K== In 4.3.3 and
earlier only
Encode bypass due to: <==-==-= Encode bypass
reasons
renote cache initialization: nmessages: 1, size: 120 B
| ast partial chunk: chunks: 482, size: 97011 B
ski pped frame header: nessages: 5692, size: 703 KB
Nacks: total O <==-==-= Nacks
R-tx: total O <===== Retransmits
Encode LZ | at ency: 0. 133 ns per nsg
Decode LZ | atency: 0.096 ns per nsg
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WAE# sh stat peer dre

Current nunber of connected peers:
Current nunber of active peers
Current nunber of degrade peers:
Maxi mum nunber of connected peers:
Maxi mum nunber of active peers:
Maxi mum nunber of degraded peers:

ORr R ORR

Active peer details:

Peer-No : O Cont ext: 65027
Peer-1D : 00: 14: 5e: 95: 4a: b5
Host nane: wae7. exanpl e. com <===== Peer hostname

Cache: Used disk: 544 MB, Age: 14d23h <-=-==-= Peer cache details



in 4.3.3 and earlier only

Cache: Used disk: 544 MB <K== Peer cache details

in 4.4.1 and later only
Peer version: 0.4 <K==
Ack- queue si ze: 38867 KB |

Buf fer surge control: |<---In 4.3.3 and
earlier only
Del ay: avg- si ze 0 B, conn: 0, flush: 0 |
Agg-ft: avg-size 20902 B, conn: 388, flush: 0 |
renpte |owbuff: O, received flush: 0 <K==

Connecti ons: Total (cumul ative): 3226861, Active: 597
Concurrent Connections (Last 2 min): max 593, avg 575
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